N = 0l & AF & F Al A

SN BEE
HE: #H2YAY(FES)

el o2yl (el &2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 )= e B2

I 362,637 166,932 195,705

HHSARY(RES) 161,137 166,932 A5,795

ol 2y 33,979 39,774 A5,795

= & ol g 23,179 28,974 A5,795

101 @121t 23,179 28,974 A5,79

02 +g 23,179 28,974 £5,795

o ANZFQIZRAIH(OIAEZ) HF 23,179,000 23,179 28,974 A5,795

NEEDNEIPIE V) 201,500 0 201,500

FoI=AAY 201,500 0 201,500

MEBUAY 201,500 0 201,500

401 Al&HIL 20| 201,500 0 201,500

01 Al&t] 200,000 0 200,000

o FUARDAIY 200,000,000 200,000 0 200,000

03 Al&=THHI 1,500 0 1,500

o FOARDAY E=F 200,000,000 * 0.75% 1,500 0 1,500
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SN A
HE: #H2YAY (RNH)
chel: ol 2| (e @8
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 )= e B2
DA 243,725 95,966 147,759
HESHAH (XA 92,600 95,966 3,366
oIz 2| 23,064 26,430 73,366
=T 0l 2 b 13,464 16,830 £3,366
101 Q1248 13,464 16,830 73,366
02 &g 13,464 16,830 3,366
o AZSIDRAIRH(OIAEZ) B 13,464,000 13,464 16,830 £3,366
EEDEIPIESET 151,125 0 51,125
ZOIL R ALY 151,125 0 151,125
ME O ALY 151,125 0 51,125
401 Al&HIL 20| 151,125 0 151,125
01 Al&t] 150,000 0 50,000
o FUARDAIY 150,000,000 150,000 0 150,000
03 Al& S H| 1,125 0 1,125
o FOIARDAY EZ 150,000,000 * 0.75% {,125 0 1,125
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fA 2H
B X

HE: #H2YAY (L)

el oz 2| (9l & 2

SN-EHH . SH(BH) - HPAY - BE2 O AF o8 )= e B2
o o 245,417 97,725 147,692
HH2AHY (L) 94,202 97,725 73,433
ol 2g| 23,334 26,767 £3,433
x| 701 21| 13,734 17,167 £3,433
101 24t 13,734 17,167 73,433
02 +g 13,734 17,167 3,433
o ANZFQIDRAIH(OIAEZ) HF 13,734,000 13,734 17,167 £3,433
NEEDPNCIPI(SIE) 151,125 0 51,125
Z0I %A 151,125 0 51,125
MEBUAY 151,125 0 51,125
401 Al&HIL 20| 151,125 0 151,125
01 Al&t] 150,000 0 50,000
o FUARDAIY 150,000,000 150,000 0 150,000
03 Al& S H| {,125 0 1,125
o FOIARDAY EZ 150,000,000 * 0.75% {,125 0 1,125
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SN Sate
HE: #H2YAY (S50)

ool ol 2| (el &2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 )= e B2
S3ho 210,764 93,351 117,413

S M 2 o A (S 5101 89,864 93,351 A3,487

ol 2g| 23,546 27,033 A3,487
x| 701 21| 13,946 17,433 A3,487
101 24t 13,946 17,433 £3,487

02 +g 3,946 17,433 A3,487

o NZQDSAIH(OIAEZ) HF 13,946,000 13,946 17,433 A3,487
EEDNEIPIEE T 120,900 0 120,900
Z0I %A 120,900 0 120,900
MEBUAY 120,900 0 120,900
401 Al&HIL 20| 120,900 0 120,900

01 Al&t] 120,000 0 120,000

o FUARDAIY 120,000,000 120,000 0 120,000

03 Al& S H| 900 0 900

o FOIARDAY EZ 120,000,000 * 0.75% 900 0 900
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SN AN
BB YA (M)

Sl ol 2| SRE
SA-EFH - SA(SAH) - MREAY - BES Hws2
&M 249,402 101,943 147,459

T2 A (A AP 98,277 101,943 73,666

oz 2 e 25,463 29,129 73,666
= %0121 14,663 18,329 73,666
101 2124yl 14,663 18,329 3,666

02 +g 14,663 8,329 3,666

o A2AQI2RAI 23 14,663,000 14,663 8,329 3,666

NH AR AR (A A D) 151,125 0 151,125
Z0I%AAY 151,125 0 51,125
METOAY 151,125 0 151,125
401 AlZHIL 2O 151,125 0 151,125

01 Al 150,000 0 150,000

o FOARDAM 50,000,000 150,000 0 150,000

03 Al&=THHI 1,125 0 1,125

o FOARDALY 150,000,000 * 0.75% 1,125 0 1,125
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SN AN
HE: #H2 YA (4H)
el o2yl SRE
SA-EFH - SA(SAH) - MREAY - BES Hws2
A el 263,691 147,229
2RI (& 01) 112,566 73,896
ol 2y 26,386 73,896
= & ol g 15,586 73,896
101 @121t 15,586 £3,896
02 4% 15,586 3,89
o NHSIZD2AIRHOIAEZ) ZH 15,586,000 15,586 £3,896
NS AR AR (& 21) 151,125 151,125
FoI=AAY 151,125 151,125
METOAY 151,125 151,125
401 AlZHIL 2O 151,125 0 151,125
01 Al&t] 150,000 0 50,000
o FOARDAM 150,000,000 150,000 0 50,000
03 Al&=THHI 1,125 0 1,125
o FOARDAY E=F 150,000,000 * 0.75% 1,125 0 1,125
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SN BEH
HE: #H2YAY (REH)

el o2yl (el &2
SH-EH . C(BH) - NRAY - BES O AF o8 )= e bRz

2 g0 257,468 109,948 147,520

HHSALY(ZEO) 106,343 109,948 3,605

ol 2y 25,202 28,827 3,605

A H el 14,422 18,027 23,605

101 @121t 14,422 18,027 £3,605

02 +g 14,422 18,027 23,605

o NZQIDSAIH(OIAEZ) HF 14,422,000 14,422 18,027 A3,605

NH AR AR (HED) 151,125 0 151,125

FoI=AAY 151,125 0 151,125

MEBUAY 151,125 0 151,125

401 AlZHIL 2O 151,125 0 151,125

01 Al&t] 150,000 0 50,000

o FOARDAM 150,000,000 150,000 0 50,000

03 Al&=THHI 1,125 0 1,125

o FOARDAY E=F 150,000,000 * 0.75% 1,125 0 1,125
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S A
HA: SYS AN (M)

col: olzi2gy| CCRE!
SA - SR(E) - HRAY - BES 01l &4 24 pJE-T HIRE

Mare 209,086 91,435 117,651

HE2IHHI(MEH) 88,186 91,435 N3,249

I8 24 22,598 25,847 N3,249

S Relals| 12,998 16,247 N3,249

101 el 24l 12,998 16,247 A3,249

02 =¢ 12,998 16,247 A3,249

o ANZRAIZRAIZHOIAMEZ) AHE 12,998,000 12,998 16,247 A3,249

KNS AL I (MAH) 120,900 0 120,900

FOI =AY 120,900 0 120,900

MEHOI ALY 120,900 0 120,900

401 Al&HIZL=RCHYI 120,900 0 120,900

01 Al&HI 120,000 0 120,000

o FUAADAY 120,000,000 120,000 0 120,000

03 A&=S0HYI 900 0 900

o FUALAADAY =& 120,000,000 * 0.75% 900 0 900
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SN =
HE: B2 (SLH)

ool ol 2| (el &2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 )= e B2
=0 209, 175 91,547 117,628
HH YA (S ) 88,275 91,547 £3,272

ol 2g| 22,687 25,959 £3,272
x| 701 21| 13,087 16,359 £3,272

101 24t 13,087 16,359 £3,272

02 +g 13,087 16,359 A3,272

o NZIDLAIH(OIAEZ) HF 13,087,000 13,087 16,359 £3,272

EED NPT 120,900 0 120,900
Z0I %A 120,900 0 120,900
MEBUAY 120,900 0 120,900
401 Al&HIL 20| 120,900 0 120,900

01 Al&t] 120,000 0 120,000

o FUARDAIY 120,000,000 120,000 0 120,000

03 Al& S H| 900 0 900

o FUAADAY FF 120,000,000 * 0.75% 900 0 900

- 253 -




2N =0/8
HE: #H2YAY (S0/91)
ool ol 2| (el &2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 )= e B2
=0/ ¢ 246,321 98,672 147,649
S 22| (=0/91) 95, 196 98,672 A3,476
ol 2g| 23,506 26,982 A3,476
x| 701 21| 13,906 17,382 A3,476
101 24t 13,906 17,382 73,476
02 +g 3,906 17,382 3,476
o NZFQIZRAIH(OIAEZ) HF 13,906,000 13,906 17,382 73,476
EEDEIPIEED 151,125 0 51,125
Z0I %A 151,125 0 51,125
MEBUAY 151,125 0 51,125
401 Al&HIL 20| 151,125 0 151,125
01 Al&t] 150,000 0 50,000
o FUARDAIY 150,000,000 150,000 0 150,000
03 Al& S H| {,125 0 1,125
o FUAADAY FF 150,000,000 * 0.75% {,125 0 1,125
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SN =5k
o HHSYAH(S581)
el o2yl SRE
SA-EFH - SA(SAH) - MREAY - BES Hws2
=5to1 210,277 117,604
N 2AAY(2501) 89,377 £3,206
ol 2y 22,423 £3,206
= & ol g 12,823 £3,206
101 @121t 12,823 £3,206
02 g 12,823 23,206
o ANAAZLAIZHOILEZ) FF 12,823,000 2,823 £3,206
NEEVISEBICET:) 120,900 120,900
FoI=AAY 120,900 120,900
MEHOAY 120,900 120,900
401 AlZHIL 2O 120,900 0 120,900
01 Al 120,000 0 20,000
o FOARDAM 20,000,000 120,000 0 20,000
03 Al&=THHI 900 0 900
o FOIARDAY E=Z 120,000,000 * 0.75% 900 0 900
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